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polynomial_expand(H,,(x))
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taylor_expand(sinx+e*,11)
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fourier_expand(x,5) = 2sinx-sin(2x) +%sin( 3Xx) -%sin(4x) +%sin( 5x)
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fourier_expand(x,10)= 2sinx-sin(2x) +%sin(3x) -%sin(4x) +%sin(5x) -%sin(6x) +%sin(
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fourier_expand(a/ X+ ,7>= 1.9448477-0.99740356c0sx+0.10786688cos(2x)-0.07608
94cos(3x)+0.035982537cos(4x)-0.02480316cos(5x)+0.016719265cos(6x)-0.01242
7225c0s(7x)
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fourier_expand(e™,7)= 0.28209229+0.4393962c0sx+0.20754913cos( 2x) +0.0594693
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fourier_expand( x2,5) = %n2-4cosx+cos( 2X) -%cos( 3X) +%cos(4x) -%cos( 5x)



